HET306 — Unix for Telecommunications -4 — Sample Examination
M ar king Sheet

Q1.
a) The tick rate specifies how often the kernel will stvibzisy processes ot ifhark)
b) Advantages
» Faster response time (waiting process switched in ongokly) (1 mark)
« Timing of events is more accurate as the time eachiecked more ofteld (nark)
Disadvantages
* Lower CPU utilisation — switch time is constant, thisreases the switching raterfark)

< Higher disk usage — in a system with high memory usage Wikitge a higher rate of page
switching L mark)

Q2.
a) Launching of child processes ihark). Management of foreground and background takksaf k)
b) The shell will:
» Launch a new child process to rgnep (1 mark)
* Launch a new child process to rwo (1 mark)
« Create a pipe, all output sdout by gr ep is directly piped intatdin for we (1 mark)

Q3. A user has run &raceroute to map the network between the workstation amav.freebsd.orgthe distance
between the two hosts is 9 network hapmérk). The user is connected to the Internet using Internode as
their ISP  mark). The RTT between the user and their ISP firstriooper is ~30msl(mark). The link
between hops three and four are the link between Malbaamd Sydney, RTT ~150nmrpark). The end
host is also located in Australizifark).

Q4. Represents the three-way TCP handshakeafk). The specified fields are:

15: 19: 00. 337420 — The timestamp when the packet was capturecb(k)

136. 186. 228. 20. 36919 > 136. 186. 229. 16. 80 — Source and destination IP Address/Port Number for@e T
packet, This is a TCP packet from 136.187.228.20, port 36919 to 63829816, port 801(mark)

s—Thisis a TCP SYN packet (nark)

535825765: 535825765(0) — The TCP sequence number of the first and last bhytefk) in the packet. In
this case there is no data in the packet (both numiesjaal) { mark)

ack 535825766 — This is a TCP ACK packetl fnark) acknowledging the specified sequence number (
mark)

wi n_ 65535 — This host (source) is specifying its receiver WindozesSihe sender should not exceed this
Window Size 2 marks)

Q5.
a) NO (1 mark), the kernel already supports routing as it is part ofRh@otocol { mark)

b) NO (1 mark), typically servers with multiple NICs would be consetmulti-homed rather than
supporting routing functionalityl(mark). Servers/computers should not route traffic between
networks as this could circumvent network desigmérk). Since this is the “normal”
implementation, routing is disabled by defadltr{ark)

c) Self provided router
e Create a gateway between internal and external netdonark)
e Can protect server by only enabling internal servicemternal network/NIC1 mark)

e Can implement a Unix based firewall, more genericardigurable than firewalls within hard-
routers(1 mark)

e Can implement queueing/bandwidth limitation rules to imefioandicap certain network
applications I mark)
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Warrop has specified the address range incorrectiya k), the end of the range falls outside the
range specified by the network addresmérk)

Default lease time is 15 days (1296000 secoriisjaf k).

defaul t-1 ease-ti e is the duration of the lease provided to a host ifreede lease is
requestedqd marks). A host can request a lease and specify a durdtioar(k). As long as the
requested lease duration is shorter thanrthe | ease-t i me then a lease for the requested
duration is grantedl(mark). No lease longer than max-lease-time may be graftedrks)

f or war der s specifies that any requests that cannot be servicedlgliogahis DNS server will be
forwarded to the specified DNS servers (100.101.102.103 and 1AM20106) 2 marks)

pi d-fi |l e defines the filename where the process ID of the hiadggs will be storedL(mark)
This allows scripts to contact the bind procesddp/sestart it { mark).

Theal | ow quer y statement defines that this server will only respondN& Pequests originated
by hosts in the 192.168.0.* and 192.168.1.* netwo?k®drks) and any queries originating from
localhost (1 mark)

NO, while the server will respond to queries frioralhost (1 mark), it will not accept any
connections on thiecalhost interface due to thiei st en- on statementZ marks).

public (1 marks)

Allowed users — jbut and het306rpark). Allowed to connect from — 192.168.0.*, 192.168.10.* and
localhost £ mark). Users have read/write acce$srark)

Thef orce create node statement specifies that all files created on thisesivdl have their
Unix permission bits forced to 77T hark). This will cause all files to be read/write/execuealny
all users { mark)

e Create an empty directory to mount the share dhioaf k)
e Run mount to mount the samba share onto the newly drepéeified directoryl(mark)
¢ You will be asked for user name/password authenticationhwhicst be providedL(mark)

e You can access the share by changing into the newly mibdimeetory ( mark).

wwwhost.net (1 marks)
Two customers, the base site is owned and operated bgrbiee providerl marks)

Each user has an account on the system and should egdraith a username/password
combination such that they can logon and transfer filéiseio accountX mark). Users should create
their web site as a set of pages/filksnark). Generated web site should be uploaded to the

publ i c_ht m sub-directory in their home directory thark). The base page should be saved as
i ndex. htm (1 mark)

Customer isini xf oral I (1 mark). One of the log files for this customer will be teh to
acne’s home directory rather than that foni xf oral | (1 mark)

Customer needs to configure the DNS system such thaSar&élution for their web site will
resolve to the IP address of the web server provgieétie web hosting compang iharks)



